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Unit 5: Trigonometry Nov. 11 /2017

Review: Right-Anqgle Trigonometry
Assigned Work: p.280# 1,3 -9, 13, 18

For any angle of interest, there are three (3) primary
trigonometric ratios. \ 17
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To remember, use the mnemonic:
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sin = 222 cos = -4 o

hyp hyp adj
Tosolve a triangle means to find all the missing sides and
angles.

For right triangles use Pythagorean Theorem and the primary
trigonometric ratios.
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The reciprocal identities are defined as follows:
hypotenuse
cosecant of 0= P : @
opposite o S
hypotenuse \!QO\ 573
secant of 0= yp- © @ o
adjacent @
: 0 [
_adjacent )
cotangent of 6=——— adjacent to 0
opposite
They are the reciprocals of the fundamental ratios:
1 1
cscl = — secH = cotld =
sin & cosé tan &
Apr 19-9:13 PM

Ex. Evaluate sec(30°)
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Ex.3 Solve using only trig.
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Assigned Work: p.280#1,3-9, 13, 18
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Ex.2 Solve
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Ex.3 Solve using only trig.
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Assigned Work:

B =13°

Apr 22-8:11 PM
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